Самостоятельная работа.
Вариант 1.

№1. Дано:    А(7;8)      В(3;16)

Найти координаты середины отрезка АВ.

№2. Дано:   [image: image2.png]


(-3;4(     и  [image: image4.png]o)



 (1;3(
Найти:  ([image: image6.png]=



 (    и   ([image: image8.png]=



 + 2[image: image10.png]o)



 (
№3. Дано:   А(-4;1),  В(0;1),  С(-2;4)

Доказать, что (АВС- равнобедренный.

Самостоятельная работа.

Вариант 2.

№1. Дано:    А(24;8)      В(16;36)

Найти координаты середины отрезка АВ.

№2. Дано:   [image: image12.png]=



(-4;3(     и  [image: image14.png]


 (-2;4(
Найти:  ([image: image16.png]=



 (    и   ([image: image18.png]


 - [image: image20.png]


 (
№3. Дано:   А(0;1),  В(1;-4),  С(5;2)

Доказать, что (АВС- равнобедренный.

Самостоятельная работа.

Вариант 1.

№1. Дано:    А(7;8)      В(3;16)

Найти координаты середины отрезка АВ.

№2. Дано:   [image: image22.png]


(-3;4(     и  [image: image24.png]o)



 (1;3(
Найти:  ([image: image26.png]=



 (    и   ([image: image28.png]=



 + 2[image: image30.png]o)



 (
№3. Дано:   А(-4;1),  В(0;1),  С(-2;4)

Доказать, что (АВС- равнобедренный.

Самостоятельная работа.

Вариант 2.

№1. Дано:    А(24;8)      В(16;36)

Найти координаты середины отрезка АВ.

№2. Дано:   [image: image32.png]=



(-4;3(     и  [image: image34.png]


 (-2;4(
Найти:  ([image: image36.png]=



 (    и   ([image: image38.png]


 - [image: image40.png]


 (
№3. Дано:   А(0;1),  В(1;-4),  С(5;2)

Доказать, что (АВС- равнобедренный.

